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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2019

Subject Name: Thermal Engineering-I
Subject Code: 2TEO4THE1 Branch: Diploma (Mechanical)
Semester : 4 Date : 21/09/2019 Time : 02:30 To 05:30 Marks : 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams & figures (if necessary) at right places.
(4) Assume suitable & perfect data if needed.

Attempt the following questions
1) Which of the following is a low pressure boiler?
a. Babcock and Wilcox
b. Velox
c. Lamont
d. Cochran
2) The impurities are removed from boiler with the help of
a. Safety valve
b. Blow off cock
c. Stop valve

d. Fusible plug
3) The boiler works on a forced circulation is
a. Cochran
b. Lamont
c. Lancashire
d. Stirling
4) The maximum delivery pressure in a rotary air compression is.......
a) 10 bar b) 20 bar c) 30 bar d) 40 bar
5) is generally placed after the economizer

a. Air preheater
b. Superheater
c. Evaporator
d. None of the above
6) The most efficient method of compressing air is to compress it.......
A) Isothermal B) Adiabatically  C) Isentropically  D)lsochronically
7) The unit of thermal conductivity in S.1 units is

A) Jim B) W/mK C) JIm*K D) all of these
8) The action of steam in a steam turbine is......
A) Static B) Dynamic C) static and dynamic

9) Heat transfer takes place according to
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10)
11)

12)

13)

14)

(A) First Law of Thermodynamics
(B) Second Law of Thermodynamics
(C) Third Law of Thermodynamics
(D) Zeroth Law of Thermodynamics
In a surface condenser, condensate and cooling water are
A) Mixed fully B) Mixed partially  C) Not mixed D) None
The person's reaction turbine, the degree of reaction is........
A) 20% B) 30% C) 30% D) 50 %
The actual vacuum in a condenser is
a) Barometric pressure+ Actual pressure
b) Gauge pressure—atmospheric pressure
c) Gauge pressure + atmospheric pressure
d) None
The body which absorbs all radiations incident upon it, is called as
(A) Black body (B) White body (C) Opaque body (D) Transparent body
The heat is absorbed by
(A) Condenser (B) Evaporator (C) Compressor (D) Thermostat

Attempt any four questions from Q-2 to Q-8

Q-2
Q-3
Q-4

Q-5
Q-6
Q-7
Q-8

(A)
(B)
(A)
(B)
(A)
(B)
(©)
(A)
(B)
(A)
(B)
(A)
(B)
(A)

(B)

Explain construction and working of Babcock and Wilcox boiler with figure.
What is the purpose of steam stop valve? Explain its working.

List the boiler accessories and explain any one with figure.

Compare the merits and demerits of surface condenser over jet condenser.
Explain natural draught cooling tower with figure

Explain formation of steam & its various phases.

Write a short note on throttling process.

Define nozzle and write its applications and types.

Write deference between impulse and reaction turbine.

Write difference between reciprocating air compressor and rotary compressors.
Explain, with neat sketch, the working of an axial flow compressor.

Write essential requirements of good boiler

Draw steam condensing plant and explain about its elements.

Show the types of heat exchanger. Describe any one type of heat exchanger with
sketch.

Explain different method of heat transfer.
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